Vista da A4 Y

— -

il

Sp. 60,10 /
vint. 26 N RIDUZIONE

2 Vitt
M8z50

2 Distanzialt
020—08,5x18

Brugola )
M6x14 ¢

0 /\X/gﬁ’ :

Vaite
50 M8x25
135
Vite
3 Dadi M6 775\:; 55 60 M8x35

3 Rondelle
3 Grower

Scala approzx. 7 . &

Quote realt tn millimelre

ART 4567 Silenziatore HAND MADE ~ZX°  per
PIACGCIO NRC—NTT — GILERA RUNNER—STALKER



